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  : 1ا������
 ���� ���� 	�
�A   
�   �����Oف ا���   mA=500g  آ�������R  . ا���ف

  . أ�*� ا�()$ . %'�& ���%$  ’Oا"!� 
.  Aــ ا��.�167 ا��5رو12 ه/ ا�.�-  1

  . أ��د ا�>7ى ا����>1 �6; ه:9 ا��.�167 
. ــ %'$ ه:9 ا�>7ى �A�B ;�6�1 وا@�1  2

2: ا���-  N 1cm↔  

ــ أ� ;�6 K�IJ ا1�G2H إذا ا!����  3
 ����  .  Rا��.�167 ا��5رو12 ه/ ا�

4  /M 1ات ا�����د��AOP5أ ا���% 	A���� ــO  و
O’  ا�>7ى Q��R% 5اتS TA� ت�UV
أو�5 ا�

  . ا����>1 

  :2ا������ 
 /M WA! 1�21 �7ا<�
% 5X5Y T% 1Xآ�

 /<Mأ $%�Y .  
1  1A(A��(Aات ا���AOP7اع ا���ــ %� ه/ أ

  �TA ا��[��\IA وا�.�- ؟ 
ــ أ��د ا�>7ى ا����>1 �6; ا�.�-  2
A  .  

  .  ــ %'$ ه:9 ا�>7ى 3
  :3ا������ 

 ����
�	 آ�ة %�.���1 �����ف ا��� ��R  
�5 ا��.�167 آ�ة ـ ���� ـ �Y%$ �6; %��7ى %�_$  ��B `A�� 

1Xاوa� α=45°  1������  
 /<MHآ��1 ا�)�ة . �����7ى اm=1200g  :!P� ، 

g=10N/kg  وR=8N  وF=8.5N  
   Sــ أaA�% W6ات ��hA ا�>7ى ا����>1 �6; ا�.�-  1
ــ %'$ ه:9 ا�>7ى  2

-�����4N  1cm↔      

ــ �TA أن وزن ا�.�-  3
 TAآ����� 
�A'�B T(�X

 -�
% /MR(O,x,y)  
 ��A` أن  

P= Px+Py                                   

             

Py  1X7د�
ا���آ�1 ا�
   �6; ا���r ا���_$

 Px  $_ا���آ�1 ا����12 �����7ى ا���  
  Px=Psinαو  Py=Pcosα ا�2��s أن
  :4ا������ 

1Xاوa� $_�% �6; %��7ى 

α=30°  TA��� h@وS1 وS2 
��tآ���  

 M1=M2=100g   TA��B�%
TA�AR�1 2و   WAR1وا�   

  1�<� M $%���  &�'%A/ ا�
 1��t% آ�ت�(�Yvأن ا ���
� 

  )أ�*� ا�()$ (
ــ ا��د ا�>7ى ا����>1 �6;  1

%� ه/ ا�>7ى .  S1ا�.�- 
  ا�5ا!�1A وا��Rر�1A ؟

%� ه/ ا�>7ى ا�5ا!�S2  . 1Aــ أ��د ا�>7ى ا����>1 �6; ا�.�-  2
  وا��Rر�1A ؟

%� ه/ ا�>7ى ) .  S1  ،S2(ــ أ��د ا�>7ى ا���>1 �6; ا��.�167  3
  ا�5ا!�1A وا��Rر�1A؟

4  167�.��� 1������ 1A�!1 ��>7ى ا�5ا���ــ %�ذا T(�X أن �>7ل ���
  ؟) S1  ،S2(رو12 ا��5

  : 5ا������ 

��� �6ر@1 �OA  �tآ���M 0 50 kg= ,  �t�7\وL 1m= 1 ��5وران���U

)7Yل %�7ر  )∆ �tM�\ T% ��X /<MأO  1 �����ف ا�����B�%وA  ����

 /��Hا 
%h ا�Bα WR)7ن ا�
�ر�1 زاو0ℓ 1Xآ���
 %1��t و\�7

 /�*�  . ا��
� ، �6ر@1 { ــ �
��� ا��.�167  1���OA  { ;�6 1<أ��د ا�>7ى ا����

 1A7ى !�ر�U ;إ� �tJ�� -B ، 167�.ا��  
 1A�!1 . وداA�!1 ��>7ى ا�5ا������ s��  . %�ذا T(�X أن ���

ــ ��Q ا�>7ى ا��Rر�1A إ�;  7Uى ا����س ا���7@
1 و7Uى  2 
  . ا����س ا��7ز16 

3  T% 1<1 ا�>7ة ا����t.�%ر@1 و�
ــ %'$ �6; ا����A�1t.�% 1 وزن ا�
�64;  ا��.�167 إذا ��6& أن B       �tB5Sا�.5ار  N  . -ا���

2 N 1cm↔  

أ��د ا�>7ى ا����>�OA  . 1.�167 ا��5رو12 ا�
�ر@1 ــ �
��� ا� 4
  . �6; ا�
�ر@1 

� �6; ا�
�ر@1 ���%'$ �A�B ;�6�1t.�% 1 ا�>7ة ا����>T% 1 \�ف ا�
 �tB5S 6، إذا ��6& أنN  . 	ا���- ا���� IJ� $�
  . ا�2

  
  
  
  
  
  
  
  

  : 6ا������ 
 ;�6 5��
X 
��]�S5أ ا�% /U�Jا��~[�ط ا� $�
��� W]~س ا��A<�

 
2�AU ا�[�ز ا���اد 
<��X ا�:ي W]~ا� TA� ق�Jا� $
J� 97 �(�ء)B
��T6 s ه:ا . وا�~[W ا��7ي ا����	 �6; ا��1t ا��
�@7t�� 1اء AM
��ء A��� �% 1.X5رB ;�6 �<���M ا���ة . ا��(97 دوران إ��ة �A)B �%5�6

 1�A<0إ�; ا�  ��X�<B ا�.7ي W]~وي ا���X W]~أن ا� /�
X ه:ا
(105Pa)  . ;�6 /U�M ء %~[�ط��A% 7ي��X20  T% 1.X5رB0  ;إ�

10bar  .  
 1.Xإذا ا�2>�ت ا���ة �6; ا��5ر W]~1 ا��AU 7ن(B -؟ 14آ  

  :7ا������ 
 
6�
S I�(% T% $()1 ا�A�1 ا7�2ا�و7��Bي  �BR=2cm)7ن %�>

 
�]@ �t�!�60.5; ��ز %��7ر �5اbar  .  
1  T% 1<9 ا�>7ة ا�~���1 ا�����.B5د اY 1 �5ا�A�� 1��A�B 1�2ــ �7ا

 I�(ف ا�[�ز �6; ا���\  
  ــ ا5S K�Yة ه:9 ا�>7ة 2

  :8ا������ 
 W]~ا� 	<�Xp  	�
: ا�
1UV ا����h  1Aدا!$ �2_$ �6; ا�

0p p ghρ− =  

 `A��p0  ا�.7ي W]~ا� .ρ  $_���� 1A�.ا���ء(ا�)��1 ا��( ρ=1g.cm
3

     

ــ ا���6دا �6; ا�>�56ة ا��M 9V6 ���ذا X)7ن 56�U ��2ة ا��5  1

 ا�
�7ي ؟ _a� T% T% أآ��  

2  	�
   h=60mــ اW]@ K�Y ا���ء 6�5 ا�
 (vanne) ــ ا5S K�Yة ا�>7ة ا�~���1 ا����>1 �6; ���ء 2)� 3

 9��Ud=1m  	�6 ;�6 5.Xh 
 /�
�g=10N/Kg  وp0=105Pa 

  

  ا������ات ا����������
  ���ر��


